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I ISR I - HEAR: HRUT  (EUAIRITE % 1.5 - 72) % 0.8
= F#ER : 20106128088 (k) ITHHIR : A— x 2 (X TLsi—)
HDCP#IPR : 5 36 #% 36 HEyz7 36 Zy=7 36
IE 52 LA ¥Y—4 ouT I N GROSS HDCP NET IE 52 LA ¥Y—4 ouT I N GROSS  HDGCP NET
B B A AR 1 42 40 82 13.2 68.8 51 HE ME 1% 56 54 110 33.6 76. 4
#EBE KB Bh 1% 44 39 83 13.2 69.8 52 hE EF 1% 48 49 97 20. 4 76.6
M KB ME 1 46 47 93 22.8 70. 2 53t T H— % 51 46 97 20. 4 76.6
Mg T OBAH % 56 50 106 34.8 7.2 AL ERE BT % 40 44 84 7.2 76.8
5 FEIL S % 44 40 84 12.0 72.0 556 A & % 45 51 96 19.2 76.8
61 1HE B 1% 40 44 84 12.0 72.0 56l BB BT 1% 52 43 95 18.0 77.0
T LA EX % 39 38 77 4.8 72.2 5761 LR EH 1% 55 58 113 36.0 77.0
8f EHE KREA % 45 44 89 16.8 72.2 581 MR B % 50 44 94 16.8 77.2
o TR FHt 1 43 46 89 16.8 72.2 504 FEE M4 1% 51 55 106 28.8 77.2
1062 )l ki 1 47 48 95 22.8 72.2 606 FEE EE % 56 49 105 27.6 77.4
1 %\ EH 1 37 42 79 6.0 73.0 614 TR £F % 53 58 111 33.6 77.4
12 BA Sth % 46 45 91 18.0 73.0 62tz LA HiHF 1% 51 47 98 20. 4 77.6
13 BE K % 41 43 84 10.8 73.2 6361 EIE AR 1% 52 52 104 26. 4 77.6
4 R B 1 43 47 90 16.8 73.2 4% 1BE A 1% 54 50 104 26. 4 77.6
150 1A = % 48 42 90 16.8 73.2 656z KM Fm % 53 57 110 32.4 77.6
1667 18 IE— % 43 46 89 15.6 73.4 666z Mth =k % 61 49 110 32.4 77.6
176 WA & 1 46 43 89 15.6 73.4 6761 HEAT % 41 50 91 13.2 77.8
181 2l Hh 1% 48 47 95 21.6 73.4 686 /Y EE % 51 52 103 25.2 77.8
190 ke 4 % 51 50 101 27.6 73.4 696z mF HRE 1% 49 53 102 24.0 78.0
204 R FIT % 44 38 82 8.4 73.6 06 &iE BA 1% 51 51 102 24.0 78.0
26 Bl Hth 1% 43 45 88 14.4 73.6 e =E AR 1% 57 57 114 36.0 78.0
26 "/ EIA 1 53 47 100 26. 4 73.6 726 BEB BE 1% 48 53 101 22.8 78.2
23 A HEmE 1 46 47 93 19.2 73.8 136 BEHE B % 52 55 107 28.8 78.2
245 1B = % 50 48 98 24.0 74.0 1Al HE A % 43 45 88 9.6 78.4
256 Bl B 1% 43 42 85 10.8 74.2 756 LA (SR % 46 54 100 21.6 78.4
266 FB B % 40 44 84 9.6 74.4 766z chit BB 1% 49 50 99 20. 4 78.6
274 WA —& % 45 44 89 14.4 74.6 T RE A 1 55 50 105 26. 4 78.6
286 Wiy 2% % 51 50 101 26. 4 74.6 8% W EHEF % 56 49 105 26. 4 78.6
296 HA BEA 1 38 44 82 7.2 74.8 190 BA B % 58 47 105 26. 4 78.6
0 TE BAE 1% 40 42 82 7.2 74.8 80f 1L BF % 51 53 104 25.2 78.8
3L LA MEF % 44 44 88 13.2 74.8 814 FRE & % 49 48 97 18.0 79.0
R /A E % 51 49 100 25.2 74.8 8261 HH R= 1% 51 52 103 24.0 79.0
B MEE B 1 46 47 03 18.0 75.0 83fr &AM A 1% 55 54 109 30.0 79.0
UL E A= 1 56 49 105 30.0 75.0 8af i EF 1% 54 61 115 36.0 79.0
3Bl Bk &K 1 40 46 86 10.8 75.2 85t KBE ER % 56 59 115 36.0 79.0
3l HHA B— 1 39 47 86 10.8 75.2 861 ElE & % 44 52 96 16.8 79.2
3 IUT £ % 49 55 104 28.8 75.2 87t SE M= % 53 49 102 22.8 79.2
Bl FE ER 1 50 47 97 21.6 75.4 88l HEH ER 1% 52 43 95 15.6 79.4
3961 EN A 1 46 50 96 20. 4 75.6 8O H/IE RER 1% 48 53 101 21.6 79.4
40 Mt BE= % 46 49 95 19.2 75.8 90fr ch)Il B 1% 54 47 101 21.6 79.4
M s xE 1 43 52 95 19.2 75.8 O1fz (LM #03h % 56 51 107 27.6 79.4
A2 A B % 47 47 94 18.0 76.0 926 it #=an % 52 42 94 14.4 79.6
43 HE ER % 57 43 100 24.0 76.0 03 BA #A % 54 52 106 26. 4 79.6
A0 BRER E= % 55 51 106 30.0 76.0 04t ZF hE 1% 60 45 105 25.2 79.8
454 NI Bz % 48 45 93 16.8 76.2 9561 L& 1% 54 50 104 24.0 80.0
A6l EFH B % 43 43 86 9.6 76.4 96tz =M B 1% 48 55 103 22.8 80.2
AT WL EF 1% 45 47 92 15.6 76.4 074 4L fisA % 52 57 109 28.8 80.2
48 1E8E &S 1 47 51 08 21.6 76.4 98 W o % 57 45 102 21.6 80. 4
494 ®MA HE % 54 50 104 27.6 76. 4 0f # At % 56 52 108 27.6 80. 4
50 chE AN % 50 54 104 27.6 76. 4 10042 &1L BHER 1% 49 51 100 19.2 80.8
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T MEL#w: 1 3 4

s 5 68 HEAR: HARUT  (ELH-IRITE * 1.5 - 72) % 0.8
N BLép: 1 45679 BAfEE - 20104128088 (k) STHEE . S— x 2 (FTLs—)
HDCP#IPR : 58 36 # 36 BBY=7 36 ZY=7 36

IE 52 LA ¥Y—4 ouT I N GROSS HDCP NET IE 52 LA ¥Y—4 ouT I N GROSS  HDGCP NET
1016 =F mEn % 51 49 100 19.2 80. 8 1516 kM@ % % 75 74 149 3.0  113.0
1022 8 =34 % 55 57 112 31.2 80. 8 1526 FEH R % 92 89 181 36.0  145.0
1036 LA HF % 64 53 117 36.0 81.0

1046 Tl 5 % 60 48 108 26. 4 81.6

1056 #E % % 56 52 108 26. 4 81.6

1066 =8 —1& % 59 47 106 24.0 82.0

1076 =@ % % 59 52 111 28.8 82.2

1086 # mE % 53 50 103 20. 4 82.6

1004 M &E % 55 58 113 30.0 83.0

1O FHhE Heik % 56 50 106 22.8 83.2

N B R % 60 51 111 27.6 83.4

126 =¥ 3ABA % 55 49 104 20. 4 83.6

136 3 s 1 55 63 118 33.6 84.4

HAf 7N St # 54 63 117 324 84.6

1156 $M@ & % 67 55 122 36.0 86.0

11662 M2 =H % 52 70 122 36.0 86.0

N6 Rk H— % 59 56 115 28.8 86.2

1184z Mch HEA % 62 58 120 33.6 86.4

19 Aa = # 65 58 123 36.0 87.0

12062 MEch H2F % 67 56 123 36.0 87.0

1216w Eit * 64 59 123 36.0 87.0

1220 =) AR % 58 66 124 36.0 88.0

1236 FAAR =% % 68 56 124 36.0 88.0

1246 chill #4547 % 60 57 117 28.8 88.2

12560 NI B % 62 63 125 36.0 89.0

12660 & JEAEHD % 58 67 125 36.0 89.0

12762 AR BREA % 60 55 115 25.2 89.8

12861 tE EE % 63 63 126 36.0 90.0

12061 S5 187 % 66 58 124 33.6 90. 4

1304 TE {-& % 59 68 127 36.0 91.0

13162 7@ == % 56 69 125 33.6 914

19261 A2 @K % 58 70 128 36.0 92.0

1336 # EA # 66 62 128 36.0 92.0

1346 Ak Sk % 63 66 129 36.0 93.0

1356 T % 68 61 129 36.0 93.0

13647 Mz B % 62 66 128 34.8 93.2

1374 chE R % 69 58 127 33.6 93. 4

1386 43 EE % 64 61 125 31.2 93.8

1306 hE E % 64 66 130 36.0 94.0

1406 mEch B # 65 66 131 36.0 95.0

141 40 £6F % 66 66 132 36.0 96.0

1420 B 12 % 64 68 132 36.0 96.0

1436 A& E % 73 59 132 36.0 96.0

1444 @ =18 % 76 57 133 36.0 97.0

1456 3t AR % 67 66 133 36.0 97.0

1466 [LED % 65 70 135 36.0 99.0

14740 tH BE % 66 69 135 36.0 99.0

1486 B8R &= % 77 59 136 36.0 1000

14961 M HE# % 69 67 136 3.0 1000

1506 =5 KE # 7 76 147 36.0  111.0




